ASSEMBLY INSTRUCTION
SKU CODE: WF318676 / WF318677

i

4

Page: 1 of 27




Detail:




Part List (WF318676)

e

Front (left) Leg

@Xl
—

\

Back (left) Leg
3l

A

Top guard Middle Shelf
@ x1 @ x1
Side panel Side panel
@ x1 @ X2
@ = —
Top table Support table
@ x3 Q @ x2 %
Small Shelf Partition board

@Xl %

26 x1 %

Partition board

Partition board
27 %2

Front Drawers

(31) x4 %

Side Drawers

Page: 3 of 27




Part List (WF318676)

@X4 X4

— _
Support leg Slats

Slats

Page: 4 of 27




Part List (WF318677)

@Xl

Panel

@Xl
Q

Panel

@Xl
f——

Front (right) leg

@Xl

S

Back (right) leg

Xl

——

N

Side rail

&E 7/

Side rail

Xl
/ /

Panel

/

Back panel

@Xl
N

Top shelf

Xl

Bottom shelf

@Xl

Top wood bar with groove

@Xl

Side panel

Xl

Back panel

X2
Y —

Back Drawers

Page: 5 of 27




Part List (WF318677)

x2/ 0 30) x2 O

Support Drawers Bottom Drawers
33 x3 % x1
Wood bar Side table

Page: 6 of 27




Hardware List (WF318676)

No. OUTLOOK DESC QTY
@ V—= Dowel @8*30mm 40pcs
= Dowel @8*55mm 2pcs
(C) Bolts M6*110mm $pes
@ Bolts M6*70mm 10pcs
@ 0 Bolts M6*30mm 4pcs
@ W Bolts M6*35mm 6pcs
@ P Cross dowel M6*13mm | 18pcs
@ W) Cross dowel @10*10mm | 16pcs
@ Flat head screw #8*60mm | 20pcs
@ Flat head screw #8*20mm | 16pcs
@ Flat head screw #8*30mm | 20pcs
@ *‘“‘W Flat head screw #8*25mm | 24pcs
M Flat head screw #7*12mm | 54pcs
@ o Round head screw #8*15mm | 30pcs
@ QD Pat L 27pcs
@ AN Allen key 60*22*4mm Ipe
@ % Wheels 8pcs
@ Dowel @8*45mm 2pcs

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)

Page: 7 of 27




Page: 8 of 27




Page: 9 of 27




STEP 5:




STEP 7:

@ % 2pcs
@ % 4pcs
STEP 8: o & |
@ (&)pmmomonn 6pcs

Page: 11 of 27




STEP 9;

2pcs

STEP 10:

®|©

2pcs

Page: 12 of 27




STEP 11:

@ @ 6pcs

STEP 12:

Page: 13 of 27




STEP 13:

STEP 14:

Page: 14 of 27




STEP 16:

Page: 15 of 27




STEP 17:

W TT7)

STEP 18:

/-

22pcs

Page: 16 of 27




/A

%w/ | W

7 7 I

STEP 20

S

Page: 17 of 27




Page: 18 of 27




20pcs

STEP 22:

63/4"

A

\\\ — § ‘‘‘‘‘

Page: 19 of 27




2pcs

d &

4pcs

STEP 24:

Page: 20 of 27




2pcs

STEP 25:

STEP 26:

® ® O @
& (Y Jaf

ANBANRAN

Page: 21 of 27




Q
o
<r

N N &@
<

)
/

/ 7 .

\ / / /

/ / / y

/ ) ¢ mv
/ \m \m W \m

/ ’
/ /\ /\

Page: 22 of 27

Y
REE .wﬂ@ B
AVAN \/K . \ \ NG
- ( ww\ 4
\‘V \ ////I/n \b\ \ / / /

STEP 27:
STEP 28:




4pcs
8pcs

f)i)uum)v)nwv)-v

] I

|- %.E%.v@ |
- * o /
& \
. LS \

2 AR
- //
I TR j

_ “ /] ////,
mw @1 1 /I

/

A\l

/«J ]

\ .\.\

N -
Q\ N
A A
a8 a8
=~ ~
7o 7

Page: 23 of 27




8pcs

STEP 31: ©

Page: 24 of 27




8pcs

STEP 33: L

STEP 34:

Page: 25 of 27




STEP 35:

STEP 36:

wW_A

Page: 26 of 27




/A

\
, 7 “W/
=011 1))
\ 4
\ = =
) />
v/ /) PEEOA,
\
\
< e Z
2 /i /4



